Sr

10

1"

12

13

14

15

Questions

e LS g sod wciyh S g 58 iy UeS,

ap Sph S 8 Gy UeS,

= s dsase e IS (S G (S e Sle S (e sl

= LIS S il ) (e 5ol

o LS LS aad S Ly S Ja M s B

o S JalE LS Sl ol (e i,

e UeS ) 2y o FaS S a8 iy _ISH LS,

e LSS o lea 5o S gy sl i

up i WS ke Gu i S ClSas )l il

2 Sda oy e i s e (S () O S dead IS s ) o s e AT s 503 S (%

s el uoSal S S S 58 Sdee S S

e US (i WS ool g e S 122

s 08U Jlarid 1€ S gl (S (e 0 b ) S 8 (e S0

Stan s e R oS u JS

Answers Choice

ok il
= Jae

o
s &
Josa o3l Dl (S

1S Laal
S of
S s
s

RFS

Pt

adla

OeSa s S

udla
@i
BEtN
=2

Uil o
Gala LS s
L aela BS e
RETENS T T

s os) dgg o
adl

L.
Pkt

s &

5% 10 —%

10% 20 —%
%20 40% -
105 30 —%

S S
S Gl
K&
g

UOoW» DOW » DOEP DUOWP UOWr UOUP DOWr DOWF DO®EP U0®PE U0WmF OU0mP U0m» U0U» DO






